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Dfrecﬁaus: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

PART A: Vocabulary

1- Before you ----eeeee- to the next question, you should take some time to make sure
you’re happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—----——-- ; the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fasco

3- We were very unhappy with the --——----- way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used ---=-=eue- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a -----—---- matter,
1) contradictory ~ 2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s -—--v- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to -——-——-
forcibly.

1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm -—-—-——- ,' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4} deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
——-——- dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to ------—--—-- their
watches.
1) illuminate 2) reinforce 3) svnchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers, are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) ===eeeame- the desired crop relatively unharmed.
Some of these act by interfering with (12) ~--------- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites. railways and railway
embankments are not selective (13) =ememeeeee all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems, and management of areas
(14) w=emmemem-e as wildlife habitat.

Some plants produce natural herbicides. (15) =====—-=- the genus Juglans (walnuts). or the
tree of heaven: such action of natural herbicides, and other related chemical interactions, is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
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12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed
13- 1) and kill 2) killer of 3) to kill 4y which kill
14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4) includes

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE I:

The intertubular spaces of testis contain loose connective tissues. blood and lymph vessels,
fibrocytes, free mononuclear cells, and interstitial endocrine (Levdig) cells. Interstitial
endocrine cells constitute approximately 1% of the entire testicular volume in adult rams,
approximately 5% in bulls, and 20% to 30% in boars. In seasonally breeding males (e.g..
camel). interstitial endocrine cell volume and number may change during the year. The
interstitial endocrine cell is a large polymorphous cell with a spherical nucleus. The cell occurs
in cords or clusters, and not every interstitial endocrine cell 15 in close contact with a capillary.
Smooth endoplasmic reticulum (sER in bulls, agranular endoplasmic reticulum) is the
dominating organelle in interstitial endocrine cells. sER membranes incorporate most ot the
enzymes necessary for steroid biosynthesis. Mitochondria of the interstitial endocrine cell have
tubular crista and are involved in the first step of steroid hormone production (e.g..
transformation of cholesterol to pregnenolone). The relatively small Golgi complex does not
participate in secretion of androgen. Release of androgen from interstitial endocrine cells is
morphologically inconspicuous. Lipid inclusions are found in all species, but are particularly
abundant in cats. Between adjacent cells are intercellular canaliculi and gap junctions.

16- In which animals is the population of interstitial endocrine cells less than the

others?
| ) Rams 2) Boars 3) Horses 4) Bulls
17- Which cytoplasmic organelles are abundant in Levdig cells?
I') Lvsosomes 2) Mitochondria
3) Rough endoplasmic reticulum 4) Smooth endoplasmic reticulum
18- Which cytoplasmic organelles initiate the synthesis of steroid hormones in Leydig
cells?
1)sER 2) Ribosome 3) Mitochondria 4) Golgi complex
19- Which animal has the meost lipid storage in Levdig cells?
1) Boar 2) Cat 3) Ram 4) Goat

20-  Which of the following is correct in relation to interstitial endocrine cells in testis?
| ) They have elongated nucleus
2) They are usually located in close contact to capillaries.
3) The number of Leydig cells may not change in testis of camels,
4) They are arranged as cords or clusters in interstitial tissues.
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PASSAGE 2:

The histologic appearance of a bronchus in lung is generally similar to that of the trachea.
except that the various layers are thinner. Bronchi are lined by a respiratory epithelium
composed primarily of ciliated cells, secretory cells. and basal cells. Proximodistally, the
composition of the epithelium changes: mucous cells and basal cells decrease and bronchiolar
exocrine cells increase in number. At the same time, the epithelial height and the thickness of
the propria-submucosa progressively decrease. The propria-submucosa is a loose connective
tissue containing mixed glands (bronchial glands) in all species except goats: bronchial glands
are less abundant in distal bronchi. The hyaline cartilage of the proximal bronchi is in the form
of irregular plates. and the smooth muscle is interspersed either between or on the luminal side
of the plates. The muscle cells are generally arranged in a circular fashion, perpendicular to the
long axis of the airway. The amount of cartilage decreases proximodistally, whereas smooth
muscle becomes relatively more abundant. The adventitial connective tissue is primarily loose.
with many collagen fibers and variable numbers of elastic fibers. Many of the fibers are
oriented longitudinally, whereas others are oriented perpendicularly to the long axis of the
airway. Adventitial and submucosal nerve plexuses and intraepithelial nerve endings are
present. In most domestic species, the extensive vascular supply derives from the systemic
circulation via the bronchial artery,

21-  According to passage, the epithelium of trachea has type of cells,
1) only one 2) two
3) three 4) four
22-  In change of bronchial epithelium progressively to terminal portion "

1) basal cells increase
2) the height of epithelium increases
3) the secretory cells increase
4) the thickness of propria-submucosa increases
23-  Which structural component of bronchi is absent in goats?

1) Glands 2) Goblet cells
3) Brush cells 4) Smooth muscle ¢ells.
24-  According to passage, in bronchi 5

| ) the cartilages of proximal bronchi are circular
2) smooth muscle cells increase proximodistally
3) the measurement of cartilage decrease proximodistally
4) smooth muscle cells are arranged only in inner surface of cartilages
25-  Which of the following components are absent in adventitia of bronchi?

1) Elastic fibers 2) Nerve fibers
3) Collagen fibers 4) Dense connective tissues
PASSAGE 3:

Thick myofilaments in striated muscle fibers are composed of myosin-11. formed by two heavy
chains and four light chains of amino acids. The two heavy chains twist together to form a rod
like tail with two protruding globular heads. Two light chains are associated with each head.
The heads have binding sites for actin and for adenosine triphosphate (ATP). In addition, they
have adenosine triphosphatase (ATPase) activity. Individual thick filaments are bound by
bands of C protein. which stabilize the filament. The myofilaments are arranged to form the
light and dark banding pattern visible in a longitudinal section of the myofibril.
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Adjacent thick myofilaments and overlapping thin myofilaments form the A band. Thin
myofilaments do not extend to the center of the A band, leaving a more lucent region known as
the H band. The thick myofilaments are interconnected down the center of the H band by an M
line. The M line contains myomesin. which links the M line to desmin, and creatine
phosphokinase, which helps maintain levels of ATP for contraction. The pseudo-H zone is
present on either side of the M line. In this region. thick myofilaments lack protruding
crossbridges and the area appears more electron-lucent.

26~

27-

28-

Which of the following are thick filaments stabilized by?
1) ATP 2) Myomesin 3) C protein 4) Myosin-I1
Which region of a sarcomere lacks the protruding segment of thick filament?
1) Pseudo-H zone  2) 1 or light band 3) A ordark band  4)M line
How are the light chains of myosin Il arranged with heavy chain in a sarcomere?
| ) They are arranged two for each head of a heavy chain.
2) They are arranged only one for each head of a heavy chain.
3) They are arranged two for each rod like segment of heavy chain.
4) They are arranged in longitudinal fashion one for each rod like segment of heavy
chain.
Thin and thick filaments in a sarcomere are overlapping to make up ----------- "
1) Pseudo-H band  2) A ordark band  3) 1 or light band 4)H band
How is the level of ATP stable in M line?
1) Desmin links the myomesin to M line.
2) Myomesin acts as a cofactor for creatine phosphokinase.
3) Myomesin linked to desmin and creatine phosphokinase.
4) Myomesin makes a junction between M line with desmin and creatine
phosphokinase.
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